EARAROBEEIERT — 2 N— IBISH —F

20145 7H9H (K) 6mAFH4H

Gl Y 7% —fx C1Xt

‘ [Riz] & ‘ [REBE] — | & (&) 12000 FHE

[A~&£] 17 :1,300,000  ~ 23 :390,000  37&:234,000 "

4 7% 156,000 F 5 3& : 130,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
L ey . B - BEHA (K3H)
11114 FALEXTRY 72X 3 ;E.JO 1.(1_3).1 1-1 37.1 3 (4_623; TR
RHLTAN—F B:FAXTIILR L—2ZKk—2ZX
= . 5 | RERZ 1:13.2 4-3 36.7| — 1 458 | EFEMS ()
2|5/5[Z7YTv b 54.0 (1/9) o |BRE
Ri*xfavR—-5— B:x/4YayFra— = 2]
5 B4 | EKRER 1:13.4 9-8 36.4| — 2 499 | AT (KFH)
31811 gV hTv= 0 (1 1/8) (+3) | BANI
L:TUHAZXI K B:RE-T1—ILK fERAS
N . IRH TS : - — BERE (KH#)
N BEEEEPAIA o4 e (11.113/.27) 2-2 37.6 5 (5_024) EaE
L:770—F B:IUAFEL AR
— B4 | BT 1:14.4 4-6 37.9| — 9 473 | BERIRIAE (KH)
5 g| H7INY = 54.0 (3 1/2) g | RBE
RZXRN=NN—= B:HI574X A4S
o, P w8 E 114, — . — ERHE (KH)
cPBsl71->x517 i 5 i 1(/1\;;1 3-3 38.2 8 a:g)ﬁ R
L:xrinaO— B:F14T7ZAb=VU— H—L—-TJvIX> - T7—LARS
> = N > 7 | BlIEEN 1:14.5 4-5 38.0 — 11 471 | SIE=ER (KFH)
d > DIz EVE S “ " 5.0 (1/2) 4 |FEEE
R g MY —RE—F BT TALYL Y4
SRS S0 4 6 | FHEFEA 1:14.5 10-10 | 37.5| — 4 453 | RERE (KH)
8|8|10| XNV T VT~ 56.0 () o |BEET
L:T7RA>Ty KF1 B:I3XF1—TLF ESPI
> S 4 4 | SHE— 1:14.7 7-6 37.9| — 6 440 | BREFSCH (KH)
9|7 9| ¥TFIE=-Z 54.0 /4 4o |EFES
LT RIAVIy 7R BivAxTv—4 AXETa—T7—~4A
pree— 5, y 3| — LRER (k)
10 3| FERINA 4 Eile 1 (125)1 7-9 38.3 10 (fi) =
Rk IAqO— B:iFLT—ReA>b + 27— RS
p= e —ias io4 | IR 1:15.6 -1 [38.5| — 7 445 | BRA—R (KH)
1y 7| 77x-—72 54.0 @ 1/2) o | ElEms
RTIRRFTEN B TIR—HL T4 YA
® I —F—@EBIERL
13—7+—
230—7—
Jol=5r= 1,4,6,(2,5,8),(3,9),11,10,7
40—+ — 1,4,(5,6),2,(8,9),11,3,10,7
[ N3
BB 1 360M 714K 1-5 220M % E 1-5 450 3EHE 1-5-11 540M
8 B 1 130H4 1-11 260M B 1= 990M K31 1-5-11 2,560
5 120/ 5-11 170 B E 1-5 470
1 130M4 B H 1= 910M

ABICOVWTRDTEEERROODE. TR LIV,




